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（2017 年 4 月 14 日星期五）

2016 年心远中学数学面试模拟题（五）解析：

【模拟练习 5】

我们知道整数裂项的方法，例如：1×2=（1×2×3-0×1×2）×
3
1

2×3=（2×3×4-1×2×3）×
3
1

3×4=（3×4×5-2×3×4）×
3
1

……

请证明：12+22+32+42+……+n2 =
  

6
12n1nn 

。（n 为自然数）
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解答：

解：

12+22+32+42+……+n2

=[1×2+2×3+3×4+……+n×（n+1）] -（1+2+3+4+……+n）

={（1×2×3-0×1×2）×
3
1

+（2×3×4-1×2×3）×
3
1

+……+[n（n+1）（n+2）-（n-1）n（n+1）]×
3
1 }

-
 

2
nn1 

=
3
1

n（n+1）（n+2）-
 

2
nn1 

= n（n+1）×[
2
1-

3
2n 

]

= n（n+1）×[
 

6
3-

6
2n2 

]

= n（n+1）×[
6

3-4n2 
]

= n（n+1）×
6

1n2 

=
  

6
12n1nn 

所以， 12+22+32+42+……+n2 =
  

6
12n1nn 


